Short Division Without Remainders

Complete the calculations below.

7. 138 + 6 = 8.217 + 7 =

9. Connor had 91 marbles. He shared them out equally between 7 bags. How many marbles

<L

were in each bag?
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Short Division Without Remainders

Complete the calculations below.

4, 4|272 5. 8|344 6. 7|434

7. 294 + 6 = 8. 744 + 3 =

9.1256 + 8 = 10. 1076 + 4 =




Short Division Without Remainders

Complete the calculations below.

1. 3|261 2. 412 |1 O 4 3. |61 |3 8 6

4| 4|1 4 7 |2 5. |8 1512 3 2 6. |75 7 |6 8
7.5094 + 6 = 8.2253 + 3 =
9. 6072 + 8 = 10. 3996 + 4 =
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